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- OCparate thlcal Mark Reader (OMR) Answer Sheet with Carbon Copy is supplied to the candidate along
with Queslmn Paper Booklet. Please read and follow the instructions on the OMR Answer Sheet for
marking the responses and the required data.
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2. Candidates should write the Hall Ticket Number uﬁly in the space provided on this page and the
OMR Answer Sheet. Do not write the Hall Ticket Number anywhere clse.
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3. Changing of answer is NOT Allowed.

2 aresIad 28 ﬁﬁ%ﬁaﬂﬁ‘&r Srdnbi sldsosnd,

#  The Candidates must fully satisfy themselves about the accuracy of the answer before darkening the
appropnate circle of 1, 2, 3, 4 in the OMR Answer Sheet with Blue/Black Ball Point Pen, as it is not
possible to change or erase once darkened.
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Sheet is machine gradable and 1t may lead to wrong evaluation:
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4. Immediately on opening the Question Paper Booklet by tearing off the paper scal please check
for (i) The same booklet code (AHBIC{DJ on cach page, (i) Serial Number of the questions
(1-200), (iii}'The number of pages and (iv) Correct Prmting. In case of any defect, please report to

the invigilator and ask for replacement of booklet with same code within five minutes from the

commencement of the test. _
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One mark will be awarded (Of every LTSILL ver for post code 21, 53 & 54 and half
Ak will be awi oo marks.
code There ar cgative I >
;aa‘::éif I.:-ma;";;;;*; ’21 1,5 :5-’505*;’ SO v drdy, #G 66 22 566 w6 5
2 208 '

- by & 3.
200%08, Jdnscld Herd)s M e |
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cirele with Ball Point Pen (Blue O i e s )
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The OMR Answer Sheet will not be valued if the candidate
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(a) Writes the Hall Ticket Number on any part of the OMR Answer Shect except in the space provided

mark for oSy
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alidated if the circle is shaded using Pencil or if more than one circle is
with a small dot.

for the purpose,
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(b) Writes any irrclevant matter including religious symbols, words, prayers or any communication what
so cver in any part of the OMR Answer Sheet,
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; (c) A::ic:pla;_ any other malpractice.
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Rough work should be done only in the space provided in the Question Paper Booklet.
PaH@o wEBOS® DSYS $tronodd (HHFos® Sr@dh D6 3 (69 56,) TREHD.
Once the candidate enters the Examination Hall, he/she shall not be permitted to lcave the Hall till the end
of the examination, | -
g0 wEI0 HF Fend's BI0DS Soxd Hhg HHcHo SAD 568 BaDLE HodVEE.
Ensurc that the Invigilator puts his/her signature in the space provided on Question Paper Booklet and the
OMR Answer Sheet. Candidate should sign in the space provided on the OMR Answer Sheet.
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The candidate should write the Question Paper Booklet Serial Number, Code and sign in the space provided
in the Nominal Rolls, '
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Return the original OMR Answer Sheet (o the invigilator before leaving the Examination Hall. Fatlure 0
return the OMR Answer Sheet is liable for crimina] action and the result will be kept withheld. The carbon

copy of OMR Answer Sheet and the Question Paper Booklet shall be taken away by the candidate and
should be preserved till the declaration of resylts
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(1) One mark will be awarded fo
for post code 22
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€ circle pertaining to the question number concerned in the OMR Answer Sheet
Separately supplied to you. |
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L. Choose the correct question tag for the following statement.

I eVery correct answer for post code 21, 53 & 54 and half mar

Children like sweets ?

(1) dothey? (2) isn’tit? (3) don’tthey? (4) aren’tthey?
2. Choose the correct question tag for the following statement.

You enjoyed the film ? | |

(1) didn’tyou? (3] don’t you? (3) doyou? (4) didyou?

3. ‘What does the sentence imply?
[ don’t think, Alex is the right person for the job.
(1) Suggestion (2) Opinion
(3) Compliment g (4) Rebuke

4.  Choose the correct order of the given jumbled sentence.
in government / the essence of / the active participation / democracy is / of the people.
(1) 1: 5: 3: 4:2 {2) 2,4,3 i "

- Rt

3.1
3) 3.51.2,4 @ s394

5 Choose the correct order of the given jumbled sentence. ,
among the human beings / the capitalist [ healthy relationg / does not faster / system of society

1 2 3 4 5
(1) 2,5,4,3,1 (2) 2,534,
3) 25413 4 2,5,1,4,3

6. What does the sentence imply? |
[f we had implemented rain harvesting a feW years ago, ¢ would have avoided the present

IMESS. . 3
(1) apology (2) suggestion  (3) offer (4) regre!
3-C
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it Choose the apprnl}rlﬁtﬂ flh 1.‘.-" hnut dﬂla}’ h}'r the residents.
The FGIIEE wele . .. L. {2) called out
(1) called by (4) called off
(3) called back. - -
ug.*‘b

i a
8. Choose the apprnprlat‘-? Phr d that | he would

The district collector Pmmlse the allegations against the

E -
(?)gm?;;k » {2} lookup (3) look into (4) look after
9. Choose the correct answer. q{. o
old man at thE: bus stop 18 notorious criminal.
(D) an. the | (2) the,a

Read the following passage and answer the questions from 10-13.
When Arthur Bloxham was in his last term at oxford university he met a girl undergraduate who
attracted him very mﬁ_ch indeed. He asked Eve to tea once or twice and then, on the very last day
of term, which happened to be fine and sunny, he suggested that they should go rowing on the
river and take a picnic lunch with him. Arthur could not row well, but he managed to get a couple
of miles upstream before it was time for lunch. Then the disaster occurred. Arthur stood up to
climb out on to the hank but he unfortunately overbalanced and upset the boat and both he and
Eve fell into the river. The water wasn’t deep, but it was cold and muddy, and when they had
scrambled out Eve was furious.

10. Arthurwasa____ at oxford.
(1) Professor 2) Librarian
' (3) Student (4) Visitor

1la What did.- Arthur SUggest on th&l
(1) To have tea
(3) Togotoa film

ast day of the term?
(2) To gE:t marned

he weather
(1) unpleasant day of the term?

(3) sultry @) cold
(4) sunny
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The boat wag upset because

se |
(1) Arthur was angry with Eve. (2) Evewasangry With Arthur
(3)  Arthur could not keep balance, (4) Arthur wanted to drown Eve,

(Pllhnnse tha. word which is similar in meaning to the italicized word 1n this Sentence.
(IE could f1se to this stature because of his jpyincible courage:
) Susceptible (2)  Unmanageable (3) Unbeatable (4) " Immeasurabje

ghﬂnse the word which is similar in meaning to the italicized word in this sentence,
eople thronged to pay homage to their departed leader.

(1)- Loyalty ~ (2) Tribute (3) Humility (4)  Obedience

Chpuse the antonym of the underlined word in the sentence. -
There are no permanent adversaries in politics.
(1) Enemies " (2) Detractors (3) Flatterers (4) Allies

Choose the antonym of the underlined word in the sentence.

Some democratic countries believe in racial segregation
(1) Integration (2) * Separation (3) Superiority  (4) Inferiority

Choose the appropriate preposition.

Kanishka was initiated Buddhism by the monks.

(1) at (2) to (3) In - (4) into

Choose the appropriate preposition.

On seeing a robber, the police inspector at once reached ___the weapon that
was on the table. s A

(1) with ~ (2) to (3) for (4) across

Choose the meaning of the underlined phrase:

The project has become a white elephant to the government.

(1) Financial burden (2) Matter of pride

(3) Centreof attraction (4) Strongand prestigious

Choose the meaning of the underlined p_uhrase: .
His trusted friend proved to be a snake in the grass.
(1) cowardly T e

(3) a hidden enemy (4) apoisonous snake

Choose the correct passive form of the sentence: -

' > door.
ok! They have painted the door
{_S [ ook! the door has been painted

(2) Look!the door was painted
(3) [ook! the door is being painted

k! the door had been painted
(4) Loo e
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* f the sentence,
ChUDSE the correct paﬁSl\’E :'J M;velﬂﬂﬂt In 1942,
Gandhiji started the Quit "4 %4 by Gandhiii
Jistarte ¢ started by Gandhiji in 1942

: _ : men
(1) The Quit India MOVE Jt was started by Gandhiji in 1942

: : me
(2) The Quit India Move - started by Gandhiji in 1942

54; 'ﬁ: Sﬁﬁ ;Ezll:: ﬂuvemﬂnt was being started by Gandhiji in 1942

titute:
Choose t t one-word subS
he correc n or another person.

. 150
A medicine given to counteract poi3 5
g (2) . antibiotic

(1) antiseptic _
(3) antidote (4) antifungal
Choose the correct one-word substifute.

One who performs daring gynmastic feats. |
(1) Pugilist = (2) Conjurer (3) Juggler (4) Acrobat

Choose the appropriate answer. e |
Bermuda triangle 1s * stretch over the Atlantic Ocean.

(1) a,the (2) the, the (3) the,a .[4) an, the

" Choosc the correct form of the verb.

After we had changed the punctured tyre, we ~ continue our journey.
(1) areableto =~ (2) wereableto  (3) was able to (4) unableto

Choose the correct form of the verb.

My friend visit me every Sunday when I was ill.
(1) wasusedto o (2) isusedto
(3) uselo . (4) usedto

Choose the correct form of the reported speech:

. The stranger said, “Can you tell me the way to the railway station?”’

(1) The stranger asked me whether I could tell him the way to the rﬁilway station.
(2) The stranger told me if [ did te]] hjpy, the way to the railway station. |
(3) The stranger asked nie whether Ie ould tell me the way to the _rallway st'atmn.
(4) The stranger asked me whether | cap te]l me the way to therailway statiof-

Choose the correct form of the ICported speech:
Ravi said, “Thave met your brothep»

 said that he had B
(1) Ravi 5&¥ met yoy |
(2) Ravi said that he had met 5:1 I brother.
(3) Ravisaid thathe h
4) Ravi said that he
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342 =
164 | i | 12
(1) 45 (2 4 . 174 (4) el

' 45 3 75 45

[f 6850 and 2575 are divided b

: k, th e remainders are 50 and 25, Thep the
greatest value of k is Y% then the respective | TR

-+ 6850,2575 0% k&' ardosse $usoy Faves s 50, 25 ©owB, k BN, 0850s (o)

RISV I _ | .

(1) 500 . (2) 625 y/gm' (@) 875
- S . | |
P +2q° =8 pg= p:g = | |

(1) V2:1 2) 1:42 @z 4) 2:1

75 kgs of rice is required for 20 students for 18 days. After 6 days 'm_rn students l;ft.
The time in days for which the remaining rice is sufficient for the remaining students, is

g sdo Hasgo 20 Ho0d Qﬁ‘gﬁ&ﬂ@l 18 &are¥o :‘.’Jﬂﬁf@:ﬁb. 6 S'are &6ad g

Drglyen DYFonTH. DADS dIgRets, DN Dakgn OIS Fwro Hopg

43 40 S 4l
T % SR I

A is 50% more efficient than B. A and B together can complete a work in 12 days. The
number of days needed for B alone to cnmplete the work is

A By, Soggo B Eay) 50% 895, TOHYL FOD 2.8 HIQ 12 Fares® Grg BoKed.
es H09 Bagd o Bosndto Sigsrodn Fwros®.
(1), ey (2) 25 (3) 40 o 4) 30

The speed of a boat in still- water is 8 kin/hour and the speed of the stream is 2 km/hour-

If the boat travels from A to B and then returns in 12 hUUI‘S, then the distance between
A and B (inkms) 1s .

ekl DES u¥ BES BHS0 Kows 88D BB B Fxsw Kotk 2 &
& 555 Ao8 B & 38 800 SIS IR0 12 kos e, wand, ASd B
Ko G650 (85 Dotge’)

9/45 (2) 40 3) 35 (@) 60

7-C
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The average of first fourteen umbets 10,4 ﬂr'dered set Df_‘ thirty numbers is9 and the
average of the last fourteen numbers 10 the set is 5. If the sixteenth number is 7 and the
average of the thirty numbers is 7 then the fifteenth number is

30 Somgen o ol EH 208" 2068 14 Sopge 30758 9 Ho0k LHNESTY 256
14 Somger $obd 5. HETES DO 7 300080 & 30 Somge 3096 7 waws, 153 Somg

Py s L @) 9 (3) 11 &7

38.

o
5\

39,

40.

41.

\.:'l

42.

43.

The costs of two varieties of rice are Rs.27 perkg and Rs.35 per kg respectively. If they are
mixed and sold at Rs.36 per kg to g€t 20% profit, then the ratio in which the two varieties

are mixed is _

Both GEsne Dtgo Soes SEHHT BSE 6. 27 500w &, 35. DB Doz B

85* a8 038 &r. 36 TUyS 0y 20% SN FodT, Vot 85V DabgE0ODH

B3 8. . _
(1) 233 (2) 3:4 ()" & 5 . ﬁJ/S:E

The square of the missing number in the sequence 2, __, 17, 7. 77..15738

17,37, 77, 157 odEdos’, S%odS Sopg 630, S8
2’—'._{3.’--'1{?.1—%’_'@ & § 508, > s
(1) 749 0 x5 €0 (2) 25 . (3) 100 (4)

The missing number in the sequence 2, 3, 8,63, 1S

2:}‘3_’.%3’ S E0SE, S*HoDS Doy |

A e —

(1) 3969 (273968 (3). 3970 (4) 2463

Thgmissing 11L_11nhé1' in the sequence 23, 28, 38, 49, 62, is
'Zf 33?19-, 62, 'Eﬂéa@;ﬁmﬁﬂ S*D0DI VoW

(¥ 80 Va2 82 (3) 716 (4) 70

The missing number in the sequence 97, 83, 73, 67, is

' SHoD& Jow
9?: %3_.: ?_2’! @Z} . @;&JLﬁ&GPj—s,FESSQUE | .
(1) 59 - %53‘ 2RSS (3) 57 ﬁf/ %
The next pair of letters that follow MN, LO, KP, i
Vo W | A 'l'lr v L i R

MN, LO, KP, = T8 5T vfore 28
(1) 1Q @) AL (3) YB 4 QI

“The missing group of four letters in the sequence BDFH, BEHK, BFIN is

Y —

spFH, BEHK, BEIN, E5ES08", SB0DS Teots BEE BT
(1) BLQG (2) BGQL ¢f BGLQ - (4) BLGQ
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The missing group of letters in the series YBXC, WDVE U}‘TG .
(1) STRH (2) SIHR (3) SHIR ( -

Letters from English Alphabet are asmgned with numbers from ] to 26 respectively, If
"% represents even butnot prime”,
“S represents odd but not prime” and

“4# represents prime number, then the code of BEAUTIFUL 1S
00D ©EE5roS*d viored 1 ol 26 Hopges” SEBIT BRDOT AT,
* B (DS Dopg 52 HBHoPG.,
S 36 HIs Sopg £ BdopgH,
# 038 Pord dopgh B, |
BEKUTIFUL o3 56550 @08, &8 6rorin -
m}##ss S %S # - (2) #S#S = #Sw*
(3) ##%S%SHxS . (4) ##$85%S%S

Ifin a code language, DIRECTOR is written as WVIRXGBI, then the code for NEURO in
that language is

2.§ 6 oas® DIRECTOR & WVIRXGBI = 82008, wzras” NEURO & §'G

(1) MRHIB - (2) AVCBK (3) ORUNE (4) ENRBC

Ifin a code language, DONKEY is written as FUPLIZ, then the code for ELEPHANT in that
language 1s

2. & 6 orhes® DONKEY @ FUPLIZ & 30008, we=ie* ELEPHANT & §&

(1) FMFQIBOT (2) IMIQIJEPV

(3) GMFQBMSU (4) TNAHPELE |

Ifin a code language DOG =29, PLANE =53, then in that language CAT =

. & 86 wrae® DOG =29, PLANE = 53 ©0208, ©5-4e* CAT =

N’ is South to ‘M’ and is East to ‘Q’. Then the dil'EﬂtiDl‘l ﬂf‘M’ with TEEPE‘CI 10 “Q' 1
(1) South- East (2) North - East
(3) North - West (4)  South - West
N &5H8. '
M % &Eoormdr, Q & drdoy IS 9. €oB Q SY¥Es M Sy, 6
(1)  efiosose : ,,Q( g8

(3) SoSa05g5%0 (4) 358
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his school and travelled 5 km tow

: m ard
1. A boy started walki"8 "' 1 ed 6 kam, Sk respectivg S South ayyq pe

Y. Finally he 1 00k ty
. . all - it ravel 0
?‘CEEE'FITE ﬂlghtdlili-giinn and the distance of th_E destination from the sch;:zf :ri{m (Owargs
~ast, Then the

(1). West -4 km
(2) South-East4km
(3) East-4km

- . !
(4) North - West4 40 OLIE0 BEo THKK 5 8.5

477 &9 Rrogy,
LE wrendy wdd o . 88T
Ao Bodain SBTISE 8O0 ST 6 8., 5 8.2 Sherd, gy €86 %08
e % BT wdydy ST Lok RSog Tt .
2 8.2 SrEndR

JM/ 5&508, 4 8.0
(2) esiyoo, 4 8.0
(3) &ty 4 8,20
(4) aadndgo, 4 8.0 | . | _
52 ﬁaju s.tarted from his house and travelled 30 km towards South and he took left turri and

| led 7 km. Again he travelled 6 kim towards North to reach his office. Then, the direction
travellC , : ——
and distance from his office to his house are

(1) South-East,25km
(2) Noﬁh-Wﬂst, 26 km
(3) South - West, 25 km
4) North - West, 25 km 1 £
;:3:_555 208 $08 woHeds 30 8.8 ¢fmo 3Y SEOTE, ;ijﬁ;?.@;_ Z;lf i
$B0mE, 580 0¥ %08 6 8.0 48 BT 6D SO0 wR EE
e 20838 Ao &, drddw.
(1) ohosm, 25 8.5

' (2) Fowisgo, 26 85

;‘;55 268, 258.%
(4) oS50, 25 8.5

y o P’ is the mother of A®
(1) Maternal Aunt

' (3) Paternal Grand Mother

&8, FEERN & | ps o~
AR PR 698 B, g, g w9t BEET 'w/gé%ﬁaé
M@mé‘ e (2) & 5 J‘.:,q&';.- 3) TN -

LT A ( : _

LA e Alatedto A S
s brother’g fathg:s wife. Then p’is relat
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Answer the 54™ and 55th questions, by using the following data:
P+Qmeans ‘P’ is father of ‘Q’

P—Q means ‘P’ is brother of ‘Q’

P x Q means ‘P’ is sister of ‘Q’ .

P + Q means ‘P’ is mother of ‘Q’ |
BO8 PAFTELN SFaos® 54-55 HHOKH mamen (005N
P+Qedm ‘Q &ng), dod P’ |
P-Qodm ‘Q ang, &k P’

PxQuosir ‘Q’ G, &8 ‘P’ -

P+ Qedmr ‘Q’ ::ﬁaoﬁézy g9 ‘P’

54. 'How is ‘A’ related to ‘D’ in the expression A+ B + C X D?

(1) Father (2) Uncle (3) Aunt - (4) Grand father
A+B + CxDdsrdos® ‘D’ § ‘A’ & Ho Sowogo
. y/é;f’@ (2) ®o%d - (3) e50¢s (4) o8
55. IfA—B+Cx D, then C is related to A as |
(1) Cousin . (2) Father (3) Niece (4) Uncle
A-B+CxDoocnd C§ AF o doodo :
(1) &= (2) Sod ° (3) FEHJ %550 (4) woHd

56. Among the following statements, which are true?
1. Length of the line is not defined .
II. A linehasno end points.

II.  Line and line segment are same.
IV A line segment has two fixed end points.

Bod HSBIB00S” DD DBgXD?
1 B B0 FEI JEGRODDEE -
[ Bof wody DodY &08 -
Il Bw, darwodsn Dodr a§8 ¥
V. Bar0oBHnSso Bodd> R @oéﬁsﬂaﬁ)@? ﬁ}ué.:vm; L

| 2) LV ©) LML 4) ILILIV
(1) LILIV

57  The missing number in the following table 18
Bob HEES 5*D00S Vopg

52[-9 | 144 ¥

7 11-1-8 | ,
. 6 | 10| | | |
(1) 9 (2) 10 (3) 11 4 12

11-C
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Answer the questions 58 to 60 by using the data given below -
38 %008 60 S5 e HHOR, Bod AW rﬁfiﬁ‘m‘ﬂ"@l G AArNHoN :a&ﬂ;‘-":‘ﬁ;ﬁaam orodod.

H*b:a*pb
aSb= a<p
atb=>a>p

A@b=a<h
A0b=sa=h

S8. P@QER%E: d
(). PxQ | (2) RSS
B I 9 .(4) QSS

. P#Q@RSS = :
(1) PSQ (2) QSS
() Q@s (4) R@5S
60. IfP#Q#ROSand$ # T, then which one of the following options is NOT true?
P#Q#ROS %0050 S * Tewond, iy §od ad)sed’ 28 wHEgi0?
(1) P#R . | (2) Q#S
@ QT e 5 (4) QST
With the help of the following statements, choose the correct'conclusion for the questions from
61 to 03. .
61 008 63 565 o BHK, §od PITTe Wrrbor HOGHE ITEH JobE Bahod.

61. Statements: a) Some ‘A’sare ‘B’s b) All‘B’sare ‘C’s ¢) Some ‘C’sare ‘D’s
Conclusions : I) Some ‘A’sare ‘C’s II) Some ‘B’sare ‘D’s
(1) Only I correct
(2) Only II correct
(3) Either [or II correct
(4) Both I and I are correct
S SSS0e0 ! a) §J ‘A’ ‘B’en wHheron  b) ©) ‘B’ ‘C’ e ©GHE0D .
0) Q) ‘C e ‘D’ e wHeon
dggomen 1: 59 Aen 'Cloo syeray, - ey * B’ ‘D’ en evyaron
(1) [ Sord0 RORSH |
(2) Il sr@a S0g058

(3) I8 [I%dghss - "
‘(/Aa" [ 508050 11 8SF0& @

12-C
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62. Statcment: a) All‘P'sare ‘Q’s
b) No‘Qis‘R’
¢) Some ‘R’sare‘S’s
Conclusions: I.  No‘P’is ‘R’

[I. Some‘S’sarenot‘Q’s

(1) OnlyIcorrect . . .~ (2) Onlyll correct |
. | :
(3) EitherIorlIl correct (4) _Both [ and ]I are cOITEC

@555%& : a) o) ‘P'en ‘Q e é@ﬂ*@
b) 'Q &0 D6 ‘R'5°
c) § ‘R’ en S’ en vhsron
mqﬁmm [: ‘Pewdd ReHy
m: g*a_fé‘rm Qs S
(1) 1 5m@d 5680586 @) TErES Soghss
(3) 18 1585038 (9 150005 I 566305

63. Statement; - a) All‘A’sare’B’s
| 'b) All‘C’sare 'B’s
Conclusion: I: Some‘C’s are ‘A’s

[: . Some ‘B’sare ‘C’s

(lj . Only I 1s correct - (2) Only IT is correct
(3') Either I or II is correct i (4) Bothland Il are -
HIBID00 a) o) ‘Ao ‘B’ev vyeron : | . -

' b) o) ‘Cen 'Bew @Q}gﬁqﬁ;
. mu;eiaaén [: & Ceo ‘A’ 20 BYEtow
[I: & B eo A 20 YHE 0N

(3) 18z 120%0sd . (8) [ 5805 lssenss .

13-C
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g =245 om and 72 Seml-Circles are drawn with n distinct

’I;lht;r ﬁg;r:‘; fﬁ:iufved pathis (7 cms.) radiion AB,
“ng 20.20. AB2 nd '
8o Hes50° AB i) 245 O & ilﬁ'nhl_a'“gﬂvu;m S nOESSS0e 28085

; _ ; 20.a0.0¢°)
_;}53&;5 5§we 33}5‘59 P& (

(1) 285 (@) 485 (3Y 585 @) 385-

If a cylinder is made by 2 square sheet of side 2] cms, by joining its two-edges, then the
curved surface area of the cylinder formed is . '

(1) 440sq.cm. (2) 42lsq.em.  (3) 44lsq.cm.  (4) 431sq.cm

2] ol ghssn So FSErE0) STAESNS wothe Jowd Lendr bﬁaﬁ ﬁg;’;@

RE) o ITwgo
(1) 440 sod (2) 4213 DD (3Y 44l ghodd  (4) 431 $0.5

The marked price of an item is Rs. 6,000. After giving two successive discounts it was sold

. _~~ for Rs.4,080. If one discount is 20%, then the other discount is

28 S0P BELS Bo & 6,000, Both S A otne Bl & SYHS &r. 4,080 &
A00TE. INEE B otn 20% wod, TosS &I, 0k _
Ey [5% (2) 20% (3) 25% 4) 30%

The iﬁv_ﬁstments of A and B are 2 lakhs,and 3 lakhs -rupees respectively. A runs the
business and so gets 20% of the profit. At the end of the year if B got a profit of
Rs.12,000, then the total profit (in rupees) is

A, B © Dépuden S&dm 2 ofen, 3 o drarcw. Jogrdo Eﬁuﬁaf@éoéinti:ﬁ A

ergfos” 207% S804, Doddrogtng B ovelo dr. 12,000 e wond, 3wdo o
(G FatocS?) |

fl/V 25,000 @ 22000 . (3) 20,000 (4) 30,000

25 - |
nthasb s _ _— : -
AIFIOY cCome 1g Umesthe principal ina certain time peri od. Ifthe rate of simple

“interest and the t; : | N NE
;\Ef "S?"EE ° time period are numerically the same, then the rate of simple interest 15
SRS eV Y :
Cinel e g, CRTIS %g B0 ©0008. rESEG Béxn HHBoI0 o
SgRG0 Voargd Kom =k |
1 | %’ ﬂ&'ﬁ@a, B5G Bew

(1) 65% (2) 9L, 1{':. Ly
- 2/6 (3) 8?2"'/7: w 7-'2—/!’1
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At the Same rat

R 1o 2me rate of annual compound interest if a sum becomes Rs.12,0001n3 years gqg
515000 in 6 years, then the principal amount (in rupees) 1S

M5 BOSES 5gsh Brsse Fod 50y 3 doiwe® &r. 12,000 &, S0 SoSgioee:
&, 15,000 ey S0&o wond, vdHen RS0y {ﬁ&dﬁ:éﬂ

(1) 10,000 ngﬁu{)
(3) 7,000 (4) 3,000

A purse is having 20 paise and 25 paise coins and the total numher?f Eﬂif_lﬂ iE_ 0. If the tota]
value of the coins in the purse is Rs.11, then the number of 25 paise CoIns 1s

28 DEyes* 20 2do, 25 2o THBSnen VNEOD 3ndo S0 g0, T8 d0go Jens
Srn 11 wond 25 *f-gﬁu TS0 domg
@/ 20

(1) 30 (2) 15 4) 10
In a fraction, if both the numerator and the denominator are decreased by 1 then it is equal

2 £ g
to 5 [f the numerator is increased by 2, then it is equal to 3 Then the fraction is

1
28 PHoS* 0ldn, FESve Tododd Lod 1 SIS ©d 3 ©. ol50I%H
2
2 Ee0drr @ P50 3 5 5,508, & HIHS0
7 8 | 15 | 16
M) 15 15 T @ 50

[f2+4+6+8+.nterms=x and 1 +3+5+7+..nterms =y,
then the value of 7+ 11 + 15 + 19 +... n terms represents

5+ 4+6+8+.ndmes =x0a 1+3+5+ 7+ ndmen =y
wowd, 7+ 11+ 15+ 19+ ndme @0f dwsd Srdods.

3x— 3y (2) 3_3::—5};'
E;; Si-S; (4) 5x-5y
N i
[%{4—{6—{12{10—8—6}}}}} =
2 i - .
M 5 @ = 0 3 0 2
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et wm, the probability of getting the sum of the two numbers op

/4. If two unbiased dic® . |
them equal to 1?;;; o6, Do TOSOR Sopge J0gsn 10 S5E Ke Soarisgs
Qo Q88 ) |

I 2
3 LN
— 4 9
(1) ‘115 @ 5 J}{‘lz =3
. I-ﬁhree p— tossed simultaneously, the probability of getting exactly one
. I
head is

4y 20 IHEIRES, QIS0 ¥ 5'80) 58 SoerSgs
1

(1) % 2). 3

Sordho DixyBs FBINY

I -
@ . (4) %

rsia, Abdual Razak visited Vijayanagara empire, in the period of ?

« . (1) AtchutaDevaRaya (2) Devaraya-II

(3) KrishnaDevaRaya (4) SadasivaRaya
4B oS Dods JBhrohwd, BRS 6§, IS5 sros’ J=cHIATY) 2088 B?

(1) wgs BSooben . o(2) B3ochen - II
(3) %)RBsc7chen (4) Soesorciow

76. The forei on Travellar of Pe

77. Assertion (A): The Harappans had commercial links with Mesn;&ntumeans.. |
Reason (R): Many Harappan seals have been discovered in Mesopotomia.
(1) Both(A)and (R) are individually true and (R) is the correct explanation F:f (A)
' (2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true
POFES (A): anﬁ&éﬁ"ﬂao‘iaées‘ &ﬁ&ﬂﬁﬁjﬁ}& Fgard Lomorew NOD.
600 (R): MG B088 wig soBen DITE WNErS” SBAI2ERI
(1) (A) %60 (R)Bodr dao, (R) (A) & $B8 956
(2) (A) 8350 (R)Bodr Qa0 50 (R) £3& (A) & 08 288w T
(3) (A)Qzdod R)gy
(4) (A) €5y 59 (R) desss

78. According to Inipathi, “he vy 0 t men of history who blossomea out of dust
into glory”. Who is he? ne of the grea Iy

El)aﬁ,ﬁl 0 ) Shivaji (3) Jahangir (4) Shersha &
" w&E "o 90" g 36 ©3 SogThd O Tad &30 Rl
(1) ) (2) CPOFS (3) =& ohs 4) o

16-C
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Which onc of the following pairs is not correctly matched?

(1) Ryotwari settlement - Madras

(2) Permanant] Land settlement - Bengal
(3)  Mahalwari system - North West Province

(4)  Talukdari system - Bombay
808 zdos® 58508 62

(1) Besboamso - Sopsd

(3) SoFeogh - Foinsy onges

Who introduced cannons and guns in Indian warfare?

- (1) Babur

(3) Shersha

(1), ot (2) =46

(2) Akbar

(4) Jbrahim Lodi
vpde eﬁmdﬁaﬁmﬁ‘mé Do, HTHod HdISchHo Tud 2387

(3) <o

(4) 3ARTD B

Who was the first Indian native ruler to enter into the Subsidiary Alliance?

(2) NizamAlikhan

(4) ShaAlam

SINTaR Y,
&2’)/ Do wd=S

(4) & seoo

(1) Nizamul Mulk
(3) SadatAliKhan

PIgITEE n:fge.aeﬁ's D08 &9 28
(1) Qo &S 50,

(3). FES BOT

Vijaya nagar Kingdom is located in the basin of the following rivers

(1) Ganga-Yamuna
(3) Krishna-Tungabadra

(1) &Hor™ - 03035208
(9 yar - SoorFiE

(2) Ravi-

Beas

(4) Krishna-Penpa
D2oHSKS FPragdn & SLHSohy My Sw

(2) T - Doty

@) S -3

5

Who wrote the book, “The poverty and un-British rule in Indjz9
(2) Gﬂkhalc

(1) Surendranadh Benarjt
(3] Badruddin - Tyabji

(1) m‘&:.lgsaﬂﬁ RIS
(3) 2R &5

1740

“8 F5 vob ¥ D82 &S as Ro&osr 08 '51~ﬂ1..u?

(2) Fpd

(4)/ STl

a0roji

O S5
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84. Match the following

List-A
a) Hala
b)  Aryabhattu
¢)  Vidyanadha
d) Bharavi
& 1Bod 7 SRl
g - A
a) Se
b) BEgaen
C) dmgTod.
d) e

The correct answer 18
RBGE HSFEHID
(1)  a-iv, b-iii, c-ii, d-1

(3)  a-ii, b-iv, c-ii, d-i

85. Allahabad inscription was composed by?

(1) RaviKeerthi
(3) Samudragupta

VLT TIT) GrrofodNanda?

(1) 8268
(3) S0 ERH

[Q]

)

11)
iii)
iv)

1)
ii)

1i1)”

1v)

(2)

(4)

(2)
4)

2)

)

86. During the Vedic period Indra was treated as?

(1) Warrior God
(3) God of fire

(2)
(4)

3857008 R0 2 BIor BrHoHRRED?

(1) osugass,
(3) ®Mhdao

(2)

(4)

Booklet Code [

List-B
Kiratafjuneeyam |
Prathapa rudra yashobhushanam

Arya Bhattiyam
Gadhasaptasati

=89S - B
oploplsV et Te
PEadEd oFyramo
wEgaedafo

e 08

a-1i1, b-1i, c-1, d-1v
a-iv, b-iii, c-1, d-ii -

Harisena
Pulakesi -_II

B 08a
Hess - 11

God of rain
God of Ushassu

56858
€5 2239

87.  Amongthe following books which was not written by Harsha vardhana?

(1) Naganandam

(3) Harshacharitra
8B @oDBEd (Hogor
(1) &mrSodo

(3) TqEoe

@
18-C

(2)
(4)

(2)

Ratnavali
Priyadarsika
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Who was the cilicf Architect of Taj Mahal?

(1)  Md. Akbar ‘ (2) Hussen Isa _

(3) Abdul Hassan (4) Ustad Khalil 152
RIS drd39y?

(1) $od& wg6 g (2) oS & ..
(3) ©SE 55 , (4), &b 295 <

How many Delegates from all over the India met on thc 0
Congress held at Bombay in 1885

1885, SPoarons® 28nS BnEE 80D SofEs B

T oSrgdd. ! .
(1) 78 @ 62 - (3 88 (4) 72

Who founded a home at Poona to provide shelter for widows?

(1) Pandita Ramabai (2) Meera.bai

(3) Smt. Kasturi bai (4) Tarabal

PSSt Do E::e.: §%0 eFdo FHoNIBHE?

(1) " Hodd Bdreron (2) Qoorerod

(3) 8%o8 Edxnderon (4) & oT@roX |

Who is the British police officer respanmblc for the Lathicharge that caused the death of
LalaLajpat Rai

(1) HughRose (2) INIk&lEGH

(3) BhagatSingh | ' (4) Saunders

eFereBIBTroD $EETS mmas @oﬁ@‘@m 0858

(1) &Fogbe (2) BS

(3) ESDOR B (4) . olby-

Which of the following Acts were passed by the British Govt. in 185 6'?‘

a) Hindu widow remarriage Act b)  Abolition of Sati

c) ‘Religious disabilities Act d)  General service enlistment Act
o TaS* 1856 &° DB Peodon SIEOIRAS who da?

a) oo lT B0 ng}ﬁﬁnsa"‘fﬂ? TWEI0 b) “@ﬁbﬁ;ﬁag} 5 1'5&.3:::

c) Hod wHdrsdo $Qo d) FEEg D Qg 540

Select the correct answer using the code given below:
286308 TN 280N

(1) a&C (2) bé&d | (3) a&d ' (4) ab&c

19-C

ccasion of the first [ndian Natmnal

RERIL JG@E&JDﬂ @’:@K}ﬁam aﬁﬂ"gzﬁ#um
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Who is popular as “Frontier Gandhi™.

(1) Khan Abdul Gaffar Khan (2) Gandhi Mahatma
(3) Tilak _ (4) Md.Ali Khan
SO o DeosndITE?

(1) 28 wens K665 - ©(2) mob Hovter
(3) sos (4) H5mE wdIS

‘When did Mahatma Gandhi arrived to India from South Africa?

Tod Sosdoydhs ¢8empse $o0d BB 2 Dons* $By8?

(1) 1918 (2) 1917 (3) 1915 (4) 1920
In which movement Gandhi has given his slogan “Do or Dic” |

(1) Non-co-opcration Movement . (2) Dandi March Movement
(3) QuitIndiaMovement (4) Home Rule Movement
mob D GEgh Hottost ‘o Bm Mbdon” ©F HeIHIFYH?
(1) 35chH Josde wigso (2) BodoSr|d eSS0
(3) 85 modadr Glgdo . ‘ (4) oo drd tdgoo

- Who formed the “Forward Block™ in 1939? | |

(1) Jawahar Lal Nehru (2) Subhash Chandra Bose
(3) Vallabhbhai Patel (4) Pattabhi Sita Ramayya
658 5D 1939° r&ododIn?

(1) 2856 I - (2) PR ol .

(3) Sozfrdd HBS (4) DD dervrooy

Who are the Muslim leaders that organiscd Khilafat Movement in India?
(a) Moulana Mahmed Ali (b) ShaukatAli

Choose the correct answer

(1) (a)only ~ (2) (b)only

(3) Both (a) & (b) | ~ (4) Neither (a) nor (b)

&80T DUHE ﬁdgéﬂh RigEroD S0fo TohHes?

(a) SToT HME wd (b)) XES esd
5BGHIB HBoHE0 -
(1) () @

(2) (b) SrEd
(3) () 0ckw (b)

(4) (a) 98050 (b) s°ch
20-C
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18 located in which State?

98. *Chauri- Chaury”
(1) Punjab

= (2) Bengal (3) Bihar (4) Uttan.a. Pradegh
';35-5‘5‘ W‘n&}ﬂ - b D‘&D@i Ke8a?
(1) Sows (2) Borrs i3} 56 (4) ogoRe;

99. The Moon is revolving round the carth with a certain angular velocity. What happens ifits
velocity becomes zerg |
(1)  the moon falls on to the carth

. _
(2) thf: moon moves away from the carth . -
(3) - the moon remains in its position

(4) the mobn moves along the tangent of its orbit

Frd Hbr Sogds Fod Sk SHos 8. T Jo Trdgo wandhyd;
DK S087

(1) Sogoss Srndses S
(2) Soghth g Hod Erdomr FHS
(3) Soghdd LBFTIS S0t
(4) o &5 885 Bog, ﬁ:,éﬁ&:g:- Jod FHS

100,/500 ml of water at 40°C is mixed with same quantity of water at 70°C. The resultant
/' temperature 1s |

40°C 5¢ Ko 500 0.0 I8, w08 MBdrwo fo 70°C 3§ fo 88 0D, H98

&N Jood '

(1) 110°C (2) 55°C (3) 30°C . @ 65°C

101. Doctor advised a 2D lens for a person for good vision. What is its focal length in cm?
[ o8 55 5055 B S5, TG 2D S680H FEHA dewt amyb. T wepste
Sens R0.D0s* Jod? |

\ o

(1)
/ 102. What happens to the wavelength ‘A" and frequency v’ of the light, when it propagates from
rarer to denser medium?

(1) Both?Aand Vv increasc . - (2)

A increases, v remains constant
(3) Adecreascs, V remains constant

| (4) Both X and v decrenso
ggasrdto SHod rollds oirdgod’S 5708 Dde Eﬂﬁrﬁﬁjc&a, 0 ESoBEE 9

L0050 TRYNGO Ve N5osa?
(1) A, VedBodsr MR QY A

' POND. v dsor godb .
(3) A&, VEsom ok 4) A . |

@t
V9 Dok g,
21-C ;
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its
body depends on 1
The kinetic energy of . : .
(1) 11;11:5; and height E 4; .vehmt}’ and nq]e
(3) heightand acceleration . mass and velocity
2.8 3538 ﬁ@'ﬁgg es 5:3_%5’3 @Dgﬂr & Oheo o &Hﬁ'fﬁﬁﬂﬁaﬁﬁ;
5 I (‘2) 3"1@, 5°00 o

(1) B350°%, 993
(3) A&, dcbeo (4) B5g078, o

The motion of an object is said © be uniform when its

(1) Speed changﬂs'keeping direction i:'unstant
(2) Direction of motion changes keeping speed constant

(3) Dircction and speed change simultaneously

(4) Direction and speed remain constant

2.8 S5%09 sHfoses’ Gomeod, T

(1) wSosed ybor ¢ob, $& 30079 | y:
(2) 58 poom wod, oSBT LD

(3) 58, Sos6% Bodr eiFom Srod

(4) 38, So36¢ Bodr Yoo &OTH

On an average, a human héart is found to beat 75 times in a minute. The beat frequency of
the heart_is | . / |

SR arytoio BifEnS QAIAE 75 ) FépLootwod. © Yoo Ry Jod

T:2) 850 ‘

(1) 125Hz “.(2) 325Hz (3) 425Hz (4) 225Hz

B
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107. The number of neutrons, protons and electrons in - Br are respectively
' 35

80 2
38 Br Sogd Sy, @S, IO Somgen SEHBIT 4 .
() 35,4545 (2) 80,3545 (3) 354535 - 45, 35,35
108. Acid X is present in Tea leaves and acid Y is present in Tamarind- X and Y-are respeciively

(1) Malic acid, Stearic acid (2) = Tartaric acid, Tannic acid

(3) Tannic acid, Tartaric acid | (4) Oxalic acid, Tartaric acid
/65 sfoes® &od B0 X, Doddodod® ¢od esio Y wond X, Y &0 SERT

(1) &08 80, %E:E 8507 () L.,Eag &30, wgé’aﬁ 200

(3) - SRS 8o, 0§ EE'D“G_/ (4) ©Td§ 8530, Lrq08 '&sé:ma
109. Match the following: '

List-I(Ore} - -~ | List - IT (Metal extracted)
a) Bauxite _ i) Mn -
b)  Pyrolusite § - i) Mg
- ¢) Magnesite _ : iii) Al
. »d)° Magnetite iv) Fe
/ 8ob TG mSdESE. . |
e - | (D) e - I (A Botind S°5°0)
a) s ~ . - 1) Mn
b)) BesshS e i) Mg
0. semps i) Al
d SeqBs iv) Fe
~ The correct answer 1S '
HBE0S DIFTI[0 5 -
(1) a-ii, beiii, c-iv; - (2 i, be, -, doi
(3) a-i, bii, c-iv, d-ii (4)" a-iv, bedi, c-i, d-iii

110. Which of the following is not a radioactive element?
/ Bof 5:53¢5° DO BAHAT TO8 Sarefo 570? -
(}}/_Pb 7 (2) Po (3) Rn @) Ra

111, The correct clectronic configuration of nifrogen (Z="7) s 152 7425 Py ZP; 2 pl. Thisisin

accordance with ; > o
/ (1) Aufbau’srule - (4) - Pamf’.ﬂ Principle
(3} Hund’srule - 4) P auling’g principle

o wh ma-u 2
Je'as (Z=17) % 86G38 Jogs ITERo s ZSEZJJ}EPiZPL wp & §08
NSodr08 wiodreom |Trohetod 2

() w55 dckho (2) FO Ergo ®) #0908 ass530 (4) ool 5760

23-C
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bl (he group with ma}..lmum number of clements 1s
:':3 ‘ng;;gaﬁ" Sros Ko W) i

sons w3gS H550 Q4 (3) 15 (4) 16

. de of t ¢ MonNoMeTs hexamethylcne dtamine and adipic acid 1s

The polymermade© ) Cellulosc - (3) Nylon-6,6  (4) Bakelite
(1) Rayon o 2505, ©BDS $0 ¥ IrSFHsd HAS P56 g
R DBRETT ) v g BeS 66 (4) ases

on of garden Pfﬂ plant hy Mendel for hybridisation experiments are

(A) Predominantly self fer tilization (B) Annual plant
(C) Uniscxual flowers (D) Well defined characters

$0E6E8m PRFTOW odS ﬂ?h S0 5 JodE BREFSTOE sedasdven
bob,0 8RGO - (B) DEZBE By

(C) DEdoKE Haye (D) HAS oferen SR ok
Correct Reasons are ) ,

SToTeu NN alel=a pON

Reasons fm gelectt

(1) A,B,D 2) A,CD (3) A,B,C (4) B,C,D
Match the following with regard to cxcret-::}ry pathways
List-1 - List - II
A)  Hydro carbons and fatty acids 1)  Liver
B) Extradrugs - - if) Large Intestine
C) Salts of Ca, Mg i) Kidneys
D) Carbondioxide iv)  Sebaceous glands

v)  Lungs

| DBES BaSr 7T BonoBod Eob TEY 2SSEHIN

ha - | : e -l
A) 85I DoTer So0csn e SECEVINY 5800

| B) «88 Jothey 1) g ti:-f{)
C) Ca, Mgedores ‘ i) -Sor@nomen
D) s*dgﬁéoﬁr%m& | | V) BRCHV Kogen

V) D088
The correet answer is -
HOTON DBy S

(1) A-VB-iii C-ii Doy

(3) A-ivB-i CiiD.y (2) A-11B-iyC-iD-v

(4) A-1iB-iu C-i D-v

- 24-C
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? SO U ward () e e e Bt i explanation Of (A)
(2) Both( A) and (R) are true, but (R) is not the correct explanation e
(3) Both (A) and (R) are false

(4)  (A)is true, byt (R) is false
BEZES (A): Sobdiasr £38 608 Sonosens HaEs €S0 T30
820 (R): & TS LAEDS a8 \8 Madbchomr XS,
/'{ (A) So8c8 (R)Boder sy, $8a%s (A) & (R) 28858 D58
(2) (A) $8a50 (R)Bod> s, 58 (A) & (R) 2588 DEZm 55
3) (A) 8o (R)Bods s

(4) (A)z3¥ =3 (R) 83y

117. Identify the false statements regarding ‘Green House Effect’
A) Eutrophication
B) Raise of sea levels
C) Earth and sea temperatures will be increased
D) Earth and sea atmosphere cools
Bod aSwdd TS F0E Hobd @warSosk (Green House Effect) 2ozosons 83N
BSSS8S0ce AgoH0a.
CA)  SSREOSAS
B) 35x@ Has So&0 =ohdo
0) srdo Sobcsn 330 eFden Bokke #
D) g So0050 dS0E TeSimo Sgudto
B,C (2) B,D

(1) |
AC (4) AD

3)
25-C
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stions, the false one 1s

. e o
118. In the following 5 5 6CO T 6H,0 + Energy

4 (E) C5H1206+602

(1) - CH1206+ 602
- (2) 6CO,+6H

119.

(4) CeHy06 ZCZ'H 5

(2) 6CO +5Hzo—-}6551205+692 +6H;0
2 2

0 Y Cﬁ.Hﬂaﬁ +6H20+602

(3) 6C0O, + +12H;

590, Hs OH +2CO, + Energy

4) CgHi0s
8od S bogseres’ 56500

— 6601 + GHEO +‘§§
,0— CsH1206 60, +6H,0

(3) . 6C0, +12H;,0 C¢H,206 + 6H,0+60,

OH + ECOZ -+ §_§=

‘A’ plant pmduces adventltmus roots when weak stems touch the ground.

‘B’ plant has thread like strucmres with knob like sporan giaat their tips.

‘C’ plant has dot like structures on lower surface of leaf.

: Idenhfy the plants A, Band C raspectwely

(1) Jasmine, Fern, Rhizopus
(2) . Rhizopus, Jasmine, Fern
(3) Jasmine, Rhizopus, Fern

(4) Fem, Jasmine, Rhizopus

‘A ﬁlﬁbcﬁ*:ﬁ DOTPN 5POTO) IV ﬁ“ﬁéajﬁéa atﬁaﬁcﬁ':\‘n &8 B30

‘B’ Swg, o) éuéa:aae: S0 aoyrel, T DBES Wz Do ﬂﬁé}aﬁéoﬁrﬂﬁl

598 ﬁacﬁ:éa

‘C’ 308, G BHI ?,Tﬂrpgﬁ So5e 5083 QT@EQ‘E‘.'E&'J EOA oD
A, B 508050 C oo S8 Hrdoian

(1) 58, 26, 385

(2) 255, $B, 26

(3y %8, 288, B

(4) 8, 2T, 38

26-C
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120. Assertion (A

121.

122,

): Vasg :
Reason (R) . ectomy is a surgery in males for birth control- :
)_ . A Small portion of sperm ducts is removed and their cut ends are tied

(1) Both g€ Operation.

(2) Both Ei; :11:113 Eg are correct and (R) is the correct explanation to (A?J(A)
A) ; are co i ' ation to

3) (A)is correct and (R) isr::r{:ﬂhgm R R

Sgaﬁﬂr(ﬁi) :(:Tfﬂ;g and (R) is correct b, S
s*8g0 (R) : éa %‘imﬂa: Daboge S55 Yohmos Fb 93 D8y IS ;::Zﬁ
(1) (A) &'ﬁm@ WS HET o ason T3 Dok DSEOD HGT DN
@) (A o (R) Bt 3863059, $38050 (A) & (R) 5@ DSGe

(R)Bodsr 586059, 520 (A) & (R) 365308 DSTEd 57
(3) () 3ogm058 So005 (R) i3 _
4) (A) 33y So0csw (R) HBSSH
The deep sea zone, where there is no photosynthetic activity, water is cool and totally dark
through out yearis - _ ;
(1) Bathyalzone (2) Abyssalzone (3) Littoralzone (4) Limnetic zone
88eadg JoRrRBad Jromr S*od, dosdEsoa S $o8csw DESm ﬁrﬂlﬁ '8
B5018 So0deo Q¢
(1) BocHS Hodewo - (2) oadS Dodeo
(3) Joroe Sodewo (4) 938§ Doodwo

Match the following
List - I List - II
A) KharifCrop R i) Food for cattle
ii) Ureaand Superphosphate

Rabi Cro
B) P iii) Cowdung and plant waste

C) Chemical fertilizers 9 P
ic manures . Iv) rea

D) Organic 9 Paddy

god T3 28 HEsod : - #

LA 55 Bobd i) DYoL g _

N\ i o . RS Oriks
i, fa a H@iﬁd, Ell]gerJ :}gmm

C) GRS DI i C)p8

D) hoBoh I

S0

The correct answer 1S

lofesely ﬁ;’mcﬁ*;&i_w - o et
-y, B-ii, C-1v, U-11l % GGl Dl

8; i: Ba{i, C-iv, D-iil (4) A-v, B-iii, C-ji, D-
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 the air in different parts of respiratory system in human bej,
| B

123, Identify the pathway ©
during inhalation

(1) Nostrils _yAlveol |
(2) Pharynx —» Trachea —s Alveoli — Nostrils

(3) Nostrils — PharynX — Trachea — Alveoli

(4) Pharynx _yNostrils = Alveoli — Trachea

Sr3HIS* GIRRO 20ALID TYISEIZS' DI oS I 050 (HIe0d Sooty
i

i — Trachea —; Pharynx

Bobod.
(1) T35 SoEen —TNEE Meven —TcsNT ¥ — (v

(2) D0 —HToRTFO — TN Moy — T3S Soren
(3) &35 Sogen - DTBwT¥o —odnEd Amoen

(4) 55 —a2s® JolTew —TCWEY Feven —ITAdNT¥o

124. Study the following statements rclated to fluorosis.

A) ' It causes deformities in limb bones.
B) Decformitics due to fluorosis can be prevented by taking milk and green vegetables.

C) Water containing more than 1.5 ppm of fluoride would develop dental fluorosis.

D) Optimum fluoride level in drinking water in India1s 2.5 ppm

PO Jow0hod Bod W wEgedo Bekod.

A) S50 50, Dben HFS P8 HEYGTON

B) 6?0 g §0h cq@erol o, eHIYD srdmaben edsom H208 S0

oo Kla‘ﬁmﬁ;’nﬁ:&
C) e&nQ8est %ES 1.5 2.9.0%00 537 Jﬁ:grémé Goé @_}‘6‘?&5& Eeneod.

D) 8884065 aidESes 05 B0E), din_é_é;iaaq;un_ 2.5 2.2.0%0.
Find the correct statement.

DOORY WIBTe0 KHBoos
(1) AB | (2) B,C,D

28-C
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Organisms havy,
= > HAVIng open type of eir
(A) Molluscs tHiypeotcirculatory system

(C) Vertebrates . Egi ;r::llilﬁgl(::’dh
DI)S 8% BdSe SEER &) dPyeo |

(A) EJJEJrSZrSm (B) N

(C) J&FSsreny D) Hl{i‘ﬂ‘ﬂﬁﬂ -,
\ [
() A‘D : (2) B,C ' {3) e (4 B D
Match the following | |
List-1 | Lo List - II
A)  Gregor Johan Mendel i) _ Inheritance of acquired characters
B) WatsonandCrick = | ii) Natural sclection
C) Jean Baptist Lamarck . iii) Process of [nheritance
D) Charles Darwin iv)  Structurc of DNA
| v)  Mutations
Bod T8 2$38S0d.
rda - | | e - I
A) @S 5o DodS i) 88 Moo @.‘\’néa 8
B) odS Sodbcsw 88 ; Qi) 988 Sdeo
C) &S ey o>, v i) So¥>rdoddy G0 .

iv) DNA Qo7yea0

D) ook @B§w
ik V) &&0IgTwn

The correct answer IS
SlolesSly PP Bl AR PA Y
(1) A-l, B-iv, C-i1, D-v
(3) A-, BvaDl

(2)//."’&-1[[, B-i\,-r_’ {'-_‘_i’ D-ii
(4) A-iii, B-iv, C-ii, D-i
¢ correct palindromic nucleotide sequence

Ho|& 6 éfﬁcﬁxﬁﬁ 5EJEHTQ) $>g0w08.

STo I~y |

. A GTTAA-3 (2) 2= GAATTC 31

' %1 TL‘TI-AGA_:;‘ (4) 5,"CCGA.‘“\I£-3‘

3) :'-Oimﬂ ¥ 3-GGCTTT. 5
3'-C i

29-C
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Q]

m classification contains

5 kingdo .
Whittaker s Chromusta, Fungi, Animalia

nera, Protoz0d.
E; ;:chm Protoctista. Plantac, Fungi, Animalia

(3) Monera, Protista, Fungi, Plantae, Animalia
(4) Monera, Protista, Archac, Plantae, Fungi, Animalia

(1) 2edo. :?.5‘ >, 2. Sofl, salocss
(2) 3udo, ELEeF. o8, Jeh, valddr
(3) wac, SBF. S0l Fod, DO

(4) 2wsaoc, 87, v o8, sl

The first place that found in the Indus Valley excavations
(1) Mohenjo Daro

(1) Harmappa
(3) Lothal
(4) Surkotada

Nol ([Froddy EXFod' ncheydd st @tvo 87
(1) 3nSozcs'

(2) >3 -/

(3) s'=é

(4) XS4

Ankamedu is nearer to which of the following places?
(1) Rajasthan

(2) Kerala

(3) Pondicharry

(4) Andhra

COEDAY Bod At b BAral SO Kok
(1) Cuyps

(2) 3¢

(3) 04T

(4) wo&

30-C

sond i S080m JOL EOhckuod.
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( , Trestre a4 Sa = o ]
’ jijg () le:.nr;;lh‘r Of & State Legistative Council must not be more than

(1) of the teny mernbership of the Legislative Assembly
9 ,
(2) % 0f the testal membership of the Legislative Agsembly
o ) .
(%) 7 Of the testal membership of the Legislative Assembly
]

(4] 7 of the total membership of the Legislative Assembly

” - & ¥
wh ©f, L5 GO feye 6% Hopy d06h: oibrGed,

J
(V) ©o% eiie Zugo syge topgd 57
” o o o - o o ﬂ" .g.?’
(7) o, amiidy Znbe Gyw Gopgd 3
atl w4 !
(3) o5, aiiyg Tndo H5hpe Bopio E/
s L
(4) ©f, Lppdie Tngo g Dopios o

11
"

439 The first H rgh courts established after independence
“ (1) Rajasthan and Bombay (2) Madras and Madhya Pra dpsh

(BJ Caﬁuuuaand Delhi {'4} O”‘ﬁﬂand(juwﬂha“
AN AN ZNGE G |

)
(1) ouigs seain eod /- (2) BED 5005 $rusg0dT 1
(3) B, 5065 %0 (4) 203y H8osn Frra
137 “The elections for local self government institutions are conducted By
's-/ (1) Election Commission of India (2) State Election Commission
(3) District Collector (4)  Panchayatj Rij Deétirtitiont
irh ?’;:.:;:.’Jii:'j's::uﬁ .‘3&?3&:-53 JEw? 22676
(h{} 2.7'66- DB VOO (2) cr-@ NS ENHS
(3) ze 6CEO (4) Boahbod g

= ; W b |
s AT "r"-.a"
ol e
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A)
B)
©)
D)

34,/ Match the follow

www.eenadupratibha.net

List -1

Chief Minister i
President of India . 5
Vice President i
Governor ")

o List - 1 with List - IT and sclect the correct answer

List-II
Head of the Nation

' Head of the State Government

Constitutional Head of the State
Chairperson of Rajya Sabha

& 8o Spdons hE - [0, 2der - [[ & 28589, RN 23ae 'ﬁﬁ“&&’m&.

A)
B)
C)
D)

dee - |

Sopgoo@ 1)

EE T - 1)
&d TRIB T i11)
§5¢,6 f><““‘m_____;;,iﬂ

The correct answer 1s

SToTos VRS AR e

(1)  A-iv, B-ii, C-iii, D-i
(3) A-iii, B-iv, C-ii, D-i
(3]

The concept of ‘Gram Swaraj’ was conceived by

(1) Jayprakash Narayan

(2) Acharya Vinoba Bhave

3)

Mahatma Gandhi

(4) Swami Dayananda

RGOS IR Ervseys BRSTE

(1) =olDdsa oo

(2) wady IS

(3) SoFfemymol

(4) D Soirsod

(2)
(4)

srfer - ]I
8 WHIS
U*';g Do wpRS

op Vel NARE:

- mag?ﬁeﬁ IEi_%S

A-ii, B-i, C-iv, D-ii
A-i, B-ii, C-iii, D-iv



(D)
(2)
3)
4)
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@A candidate contestin

| g the elections forfeitg deposit, if he does not secure,

'i“{'}'th of the totq] votes polled
]

—

c th of the total votes polled and valid

1 .
> id of the tota] votes polled and valid
D a2
3 rd of the votes polled and valid

(1) 3mgo 85 Lt —35 Sods Lix

(2) Jngo 8BS 398 Lae* é;s Sod Ao -

10

B |
(3) Joodo B3, BOS L’ E::-:saea;

L I _
(4) Bwodo FBS, BOS b’ 35 S0k

@ All India Services are mentioned in the Article
wPo odd HOVOD DTD0NI HETe

(1) 326 (2) 312 (3) 324 (4) 316
Wh ich of the following persons have worked as RBI Governors.

(a) C.RangaRajan (b)
(c) M.S. Ahluwalia - ! . (d)
(1) Allare wqucd @)
(3). a,cand d only worked" (4)
Bods aYS 8L RBI 5588 HQTBDSTE
(a) C. SoT e | (b) -
(c) M.S. WIYTdi>® (d)
(1) w@oldr DAV |

2) (a), (b) Ho8os® (¢) S DAV .
(3) (a)(c) S0 (d) Sl DAV

(4)

(a), (b) 508050 (d) SFED JAVFE

. 33-C
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Dr. Manmohan Singh

- D.SubbaRao

a,band c only WDII'kEd
a,bandd only worked

T DIZES Dok
D. 2N o)
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mission was formed in the year
Joyin DODAES HoSHKHEED
1948 (3) 1951 4) 1950/

Read the following statements; and It:_lentify correct answer.

A) Most of the rural areas have trained doctors R

B) Nutritious food helps in Improving the health condition
C)  Sorie doctors may involve in unnecessary treatment to m

(1) A,BandCare correct
(2) AiswrongandB and C are correct

(3) A is correct but B and C are wrong

(4) A,BandCarewrong o

Bobd BISIInen $BD FJI 2372080 80TS0

A) (e Fosred” WIEHT JdogenTid

B) «&Kg28 255k agHis” FATHEo. §ido BR08
&

C) ey SoFrbosSTE Foddnod Stogen WIS5HES DEen VWooowHui)

(1) A,BSo6ain Ceo 808D
(2) "AH53058 578 S0 B, € oo 30505
(3) A%8:38. 59 Bodain Cen 8503957
(4) A,B 00050 CH0g08 59

;B0 Peds 90P°
(1) 1947 (2)

ake money

The following are natural resources. | g |
A) House B) Land C) Water D) Minerals

(1) Aiscorrectbut B,Cand D are wrong
(2) AiswrongbutB, CandD are correct
(3) AandBare correct but C and D are wrong
(4) A and B are wrong but C and D are correct

§od TES* ﬁ?’-ra;ié:ﬁjm .

A) ﬁgfgﬂ_m - B) #rn . C) oS D) o2zw
(1) ARBgHaS 57 B, C S08c%n D en 98803257

(2) ARBGNIB 2. 5% B, C $r8as0 D &0 5008

(3) AS08050 BI0Gh&D 59 C %8050 D en H8508 5

(4) A 0050 Bew NOODSD 578 57 € 085w D en 38813

How many square meters are cqual to one hectare - -
(1) 10,000 sq.mts - (2) 1,000 sq.mts
(3) 100,000 sq.mts (4) 100 sq.mts

28 THR I BE6Y Mg sseso

(1_) i d (2_3 1,000 .20 (3) 1,00,000 .20 (4) 100 .9

¥ |
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43. Th =< il =
143. The Fooq o
ﬂ $
SO "Poration of India wag g i
B B0 established in the year

(1) 1969 B BoOURES Sosgssn
2
144, Nationa] Yo (2) 1966 - (3) 1965 (4) 1963

St
(1) Pune - of Nutrition is located at
B Dk rant (2) Mumbai . (3) Hyderabad (4) Vijayawada
(1) z 3%1&6 VOB & $K60S* &ob
_ «JJ° .
145. Th G (2) R0 02T* 0 (3) -".J"lp‘-'ﬂ"gf‘ (4) DBoNT
; e Go . e
s Vemment of India made National Food Security Act in the year.

@ﬁjé O E‘-"édi} o . -
(1) 1947 - 875 Eﬁ@ﬂ"ﬁ%ﬂ DhHY Sos)B0

_ (2) 1950 (3) 1980 (4) 2013
Firstbudget of the

ndependent Ind | ' Minister.
(1) PranabMm akiiesiec 1a was Introduced by the Finance

+ (2) R.K.Shanmugam Setty
(3) Morarjee Desaj (4) V.P.Singh

$BOE TSRy s wgss B3FDES 88 08
(1) @b Sopd

(3) 3wod dach

146.

(2) R.K. &ea0)fo 8
(4) V.P.%oA
Of the following which system of medicine is not a partof AYUSH?

(1) Homoeopathy (2) Unani (3) Allopathy (4) Ayurveda
Sob A6 Treess” AYUSH &° oo 5208 2872

(1) Torn@rd8 (2) Soad (3) os*sa

147,

(4) Eoﬁmﬁscﬁ
148. The following planets are called as Inner Planets

(1) Mercury, Venus, Earth, Jupiter
(3) Mercury, Venus, Mars, Jupiter
Bod TBS" wodl (e

(1) 2%, DED, Fordd, T8 (2) a0, 2, 43, 34r5S
=

() e, B, Somihid, frind (| wid, b, &, worrGk
149. The dry and hot winds of northern plains are called _

(1) Mistral (2) Zonda (3) Loo

(2) Mercury, Earth, Saturn, Neptune
(4) Mercury, Venus, Earth, Mars

(4) Chi
e TTod 5D &M, AT God HI3T ) hinook
(1) 2FS (2) #ow 3o —

150. National Highway No.7 (or 44) does not run through the fD“GWing ctate
(1) Uttar Pradesh (2) Kerala (3) Andhra Py, desh (4) .Tﬂl
805 SrTd Jo. ?){;é/ﬁw & oo fom T, angana
HaT B8 (3) sonds

. 35-C L (4) Boome
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find out the correct statements.

he joint venture of India and Bangladesh

tc of oceanography is in Goa |

s of South Western Railways is Hubli

ulf of Khambatt while travelling from Nagercoil to Srilanka

IS1. From the following
A) Kosiprojectist

B) National [nstitu

C) The Head Quarter

D)  One has to cross G
Bobras® sy RS

A) £ @Bg 10607 romaTo &3nd HEES0 7/

& s ﬁ:ﬁﬁ[ﬁ‘h 93058 Fare® &ob

B) 3435 asgt§
C) 3o 38 HFS ToB0 TOBS' B3 7 Lyl /
K 68 0 o |

D) sHsSone Hod 3008 IHTE ﬁEE;‘J e oL T

(1) B&C A&D¢  (3) A&B ¢ (4 A&C
152. A part ufTﬂar Desert is converted into irrigated land by this canal.

(1) Sirhind Canal ' - (2) ShardaCanal

(3) TawaCanal (4) Indira Gandhi Canal

56 JTBS R FodTira) FES0SDN P SrByNs :

(1) 2&7ob sPens (2) 68 sPend

(3) 8o send ' (4)~x0800d s7e0d

153. The ratio of iron ore, coking coal and limestone in steel is approximately
&&y) SiSrdeS D@ rhoB oD D0, §F T, DFHRoove g DS
(1) 4:1:2 @ 2:L1h (B) 4:2:1 (4) 1:2:4
154. The salinity of Bay of Bengal at Chennai is approximately
83 ) 3G do _a:un‘?”gr-é?’.';} rdeagds 0TS

(1) 95% (2) 35 % (3) 350% (4) 290%
155. These are related to.Green Revolution

A) HYVseeds B) Imrigation facilities

C Production of milk - D) Environmental effects

(1) AandB are correct but C and D are wrong
(2) A,Band Care correct but D is wrong
(3) A,BandD are correct but C is wrong

(4) AiswrongbutB, Cand D are correct

oRlo]3] Qaaﬂﬁﬁ STebaleTaletARTN| iy

A) 988 dHwd JgTen B) 08 >%Hde ¥ogen

C) JFo &8 - -~ D) ATgI8e [Herdo

(1) Aodckn BId&hsd 59 C 500050 D 90089 &%

(2) LA, B3odasn C SOND 5 D HOGIS 57 .
%A, B S08a8 D 565059 59 C S AR
1 (4) ADORKB 56 53 B, C 590050 E‘e’aﬂ@:é;}
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Andhra Pradesh fall in this category
(2) Evergreen

156. Most of the forests of
(1) Deciduoyg

(3) Thorny | (4) Littoral and Swamp
E;‘@@asﬁ"@ VOJOS* whE o & S8 DodSD
SlesRoey () ves 308

() sn¢) wa (4) s3088 255

157. Swampy and Marshy region is called |

(1) Bhabar (2) Terai

(3) Khadar - (4) Bhangar

DEh Jven Ko |Fodo ' _
P . | | Boo0

3) 266 . AN

58. Mlatch the following:
" A) GM.C.Balayogi i)

'B) GS.Pathak -§ i) |
C). Fakruddin AliAhmed iii) Vice President of India

Prime Minister

President of India

D) IK Gujral - iv) Speaker of Lok Sabha
Bod T 2365H G B00! |

A) .00 2 e)G3oeh W /‘i} @RFH300|8

B) ég:l:‘a T C i) 88 oogda

iii) arddé SITJ DB

5608 @9 TrplS S
IE - iv) &8 fy86

D) =5 KoeS
The correct apswer 1S

B3N JBGTHR0 N :

RO 4 G DY (2) A-iv, B-ii, C-iff, D-i
1} A-l, B, 7 T eI MR
o B-iii, C-ii, D {2 SR WCH, D4
€ i
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29. 1 lentify the wrolg s

()

161.

'.A)

)
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Q] . ———

(atement with regard to Fundamental Rights.

s are not absolute

(1) Fundamental right
. arc available nnl}r to Indian citizens

(2)  Some Fundamﬂntal rights
(3) Fundamental rights are drawn from the A

(4) Fundamental rights are unamendable

merican Cnnstltutmn

@“nﬁboé méoz,ezéa aamoﬁﬂﬂ 151:-5 TS HosR8.

(1) @aasmg e e wa:&:eﬁa}m 5
(2) 5Q) @E08 S e 8 FHo Sr@sd oHTO
(3) (B o EBE TEgoNED S008 [(rotERSs

(4) DENE TN 15B0EENE DendeDd

dentify the correct statements. .
Fundamental Duties are incorporated in part IV A of the Constitution

B) Fundamental Duties are eleven in number
C) Fundamental Duties are drawn from the Constitution uf erstwhile Soviéet Union

Fundamental Duties are incorporated by the 44 lesntutmnalﬂmendment
(2) A, B & C are correct

(1) A & B are correct
(4) A, B, CandD are correct

(3) B, Cand D are correct
BoB TS HOGLSD HboFod
A) D‘“ﬁﬁg&ﬁﬂ@*ﬁ IV-A a]’“:"i.:inej" rdas :‘Ddﬁam E?“Dcﬁ:ﬂﬁzﬁe.}&a’}:.l

B) @oodo 11 @ENE Dpen Lo

C) og) FINS ardaH§ orargorio 08 FEE e [IrotndSsd
D) 445 oargofl 86w oo (g Aen Targokod® FotNEERASd

(1) ABodasnw BHoghisd (2) A,B %0050 CHoG08d -
(3) B, C 000> D5o@usn  (4) A,B,C%08050 D58
he Aticle that directs the state to prﬂVldE maternity relief
(1) i;t”::ﬁ f - (2) Article 51A(e)
(2 icle 47 (4) . Article 39f
PRTd ROYH B'E}Jm:i;i};g mﬁ‘ﬁgﬂ ﬁiéwﬂa KESe0
(1) 42 B¥de (2) 510 (@) B8
(3) . 47 B8 - _ =
(4) 392% (H¥Ge
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1\ |
| @ce President i clected by
3) Members of Rajya Sabha (2)
(3) Members of Parliament (4)
BICJZHBY DR K38
(1) oagdn sapgen )
(3) &8 Bepges @

@. The tenure of which Lok Sabha was extended beyond five years.

(1) "4 [ok Sabha

: (2)
(3) 7"Lok Sabha

(4)

rs of Rajya Sabha
of Parliament

oGRS IQBS VEFEI
3 B00 80 ;J:.}ﬁé ﬁ'ﬁgm

6th Lok Sabha
5th 1 ok Sabha

D GBI HEDTer) 5§ oSBT O Lo SBACSERSD

(3)

164. Birst Chief Justice of Indian Sﬁprema Court .
' 1) Patanjali Sastry (2)

(1) 45 %638 () 6% %3

(3) HarilalJ Kania (4)
G DPoSY I0sE BErS IrgohSory

(1) S&ozd R (2)

(3) HoersS B.5°AC . (4)

75 S8 © (4) 33 O

P.B. Ganjendragadkar
Koka Subba Rao

8. EoEmTE,E
§'s> Jowyor)

. Y65 I(}ne of the following is not appointed by the Governor of a State.

=" (1) HighCourtJudge
- (2) Advocate General
(3) Chief Minister -

(4) Chair person, State Public Service Commission

& (Bob TOS* T A3
(1) TSR TEOII2
(3) SapgRoo® .

(2)
@

Thc United Nations Fra

session confere _
(2) Warsaw

166.

second
Marrakesh

550386 33 @

365 (Cop22) € 80
[

(1) o8%8

3)

B HAdos” 2dhod

(2) 09 ()

39-C

S 56), 8RS © Eod w0 (UNFC

66 B QSowsed T8

VEEES 288S

BEYS, g 506 665 §M4S

me work convention 01 climate change (UNFCCC) held the twenty
nce of the parties (Cop22) at the following place |

Fiva (4) Lima

CC) so%), 225 5588 &9

e (4) O%

A5
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167. porc. : 1 news, because

Danj s sy e e Mt
Q) This is a village adopted b?’ Sam::hm Tendulkar |
(3) Itisanancient tribe that lives in the Eastern part of India o
(4) Itis an app developed by Central Government for cashless transations
Donja a&se seod’ H_“ﬁé: S0GT 8 56800
(1) a8 Hueys’ of HPEo =858 Ko
(2) %05 Bodow)d BE8 8:3080) |mhio R
(3) b drdy 680H0S" VIV 28 FHS Aoed 84 _
(4) 28 Fo8 HHSED SHE 68 289 5 ©PI)B BoHOAS oSrd

168. In October 2016, Maoist encounter took place at
(1) Munchingiput |
(2) Mannem Konda
(3) Pedabayalu
(4) Bejanki ;
©F06 20165° SrSfowdy ISTOLE 28RS HETo
(1) Swosoh Héxn |
(2) SoJpo Fod
(3) &achHew
(4) Bgos

169. Regarding NAM Summit 2016.-Choose the correct statements
a)  Thisis 17th NAM Summit
b) PM Narendra Modi lead the Indian deligation
c) Heldin Venuzuela

NAM 2203¢5-2016 & SomoBod $38 arsmgen JohE Doskodn
a) =8 1735 NAM 3po§ 680370 © _‘
b) 708 2 PErddo@ $bod Frd FEEgo Seromrd
c) ©8 Reweord’ 20h0d ©

(1) a&b | (2) b&e
3) akec (4) a,b&ec
170. Host NaFi::m of UEFA Eurnp_ean Football Championship (Euro Cup 2016).
(1) Brtan - (2) Germmany

(3) France (4) Ttaly

050,899, GHrEVINS Yl gropaHSUD (56 €5 2016)% wbEgo aQyS B0
(1) B8 (2) =8

(3) @& ' (4) 2&d

An_r
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171. Match the fnlinwing
a) JKLF | .

- Al-Baghdad!
c) ISIS | iii) QamarJaved B&W?
d)  Baluchisthan Leader iv)  Yasin Malik '
& 808 729 TIPS Te S IR NN
a) - JKLF |

: ) emowis €5 pe
b)  FIS ub) &%

i) * &S8R S 20
c) ISIS (005 i) p3s =6 PF3
d) BordFS FaHdedd ) osrdS S98
The correct answer is ' |
DOGHS DSTEEHS0 .
(1) a-iii,b-ii,c-iv,d-i. (2) 54i”=b‘i.ii?ﬂ'%’j-; -
(3) a-iv,b-iii, c-ii,d-i (4) . @siil, -1V, €75 57

172. “Pithambar” which was .develuped by CSIR Scientists recentlyisa variety of

(1) Lemon Grass (2) Canna Ljillyl Plia.nt
(3) Citronelly Plant (4) Turmeric Plan

b erons B30 atise CSIR wEdges o)) SRS a8 8RS
(1) sy | (2) 3o 99 B,
(3) DT 3o, - (4) HoP 30,

' -+ ted in 8th BRICS <2016 Goa Summit
following leader has not participated In -2 '
e Tlhﬂ I:]i_)i?m.ﬁ Rguuseff (2) Vladimir Putin
ES% Jin Ping (4). Jacob Ium?,
16 & Fores® 28as 85 8% 4SrBios® FEI TeHKE | ToHT e
@ Her a’ﬁ:ﬁ: - (2) TBME P8I -
(3) 25 %;:mﬁ' | (4) 8D h

R  demonetization issues. It is headed b
. daSub-CDmmlttﬂﬂmaddms n issues. Itis hea y
1'74. Central G‘?"EHE“:E i (2) V-NarayanaSwamy
(1) Navmiil?adnaﬁs @@ N Chandrababu Naidu
{3) . Deven

Sy 68 $53FOR 46800308 Fo B B5 EWEI dchdodos. TRE
g VY

@cﬁgh@d‘”

L (1) $DS DEes
(3) B30 SEI

4 l-jc

(2) D. TC0Ded AW
(4) 2. So@eranarosndd
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176.

L

178.

179.

www.eenadupratibha.net

UN General Assembly appointed Antonio Gutterres as the Secretary Generg] ”fUNG, |
a) 10t United Nations High Commissioner for Refugees

b)  Former 114" President of Portugal

¢) Former President of European Council

d)  Founder of the Portuguese Refugee Council

PREGTEg S8 TR B8 BOSAr HLG)H PELD 2SS IDDONSE, gy
2) 105 a%03BE 34F) T $DRSE 56 virgEdm SO BTD
b)  SrenASE 1145 ©SgHI™ 53 B |

C)  chrEHohS TYS OB 5 BT

d)  FEhd Birge TS FhoTdd

(1) a,b&e (2) a,bé&d (3) ac&d (4) b,c&d
Vijayanagara capital was on the banks of this river |

(1) Krishna ~*  (2) Tungabhada (3) Penna (4) Godavari
DBADSHE Tamrd & 38 wis o | e

(1) & (2) Soks . 3) a7y (4) oS

The Amaravati Stupa in Guntur district was constructed at the period of
(1) . Ikshwakas (2) Satavahan_ﬂs (3) Chalukyas . (4) Pallavas
DOLTE 2SR VHTES JrHSo VBPBDES sreoK0 '

(1) aggoer | 2) PSTHses .

(3) wrebdogen { . (4) JdoHeo

In the period which Chief Minister the arrack wa sbanned in Andhra Pradesh for some tim
(1) Sri Chandra babu Naidu (2) Sri.T. Anjaiah i )
(3) Sri.N.TRamaRao - (4)  Sri. Damodaram Sanjeevaiah
D S0pgHoo@ FosNS® wogPatS F0 JhBownass |

(1) § Soeran Tosndk - @) & s ®o2alg

(3) § 08870 &8 TErod - 4) & marsso BoSasg

The Gundlakamma project was constructed in this district |
(1) Vizianagaram (2) Prakasam (3) Krishna (4)' Guntur
Dodss) (@R ABoswteS) 2<%

(1) QROPJACIN  (2) (HsedS0 (3) S)T . (4) Koot

42-C



130.

181.

182.

183.

184.

- (3) Gurajada Appa Rao )
B0 Hodn “D¥ous S Slodsas

(1) &% To0Huog
(3) HE=E BTTI

185.

" r"'J

(3) RGSE“rDDd
(1) 8%

www.eenadupratibha.net

| ‘Q - Booklet Code @

(1) Teak i only in Andhra Pradesh but not in any other part of the world i

(2) Sandal wood
. (4) RedSandal wood

©Dosdon Lo PaTes® Srgd ofod Evd 28

The traditiona] dance of Andhra Pradesh |

(1) Kuchipudi t (2) Yakshagana

(?) FiT&mtaNatyam "(4) Kathakali

LOISDGE% oS ToRTaNy Tigba

) srazpa ) wwgmso () gusmbge  (4) SER

The father of the Telugu film industry

(1) HM Reddy
(3) K.V.Reddy

Senid YIS SoBuolS T

(1) =S.c%5. &
(3) "B o&

(2) Raghupati Venkaiah Naidu
(4) Vittalacharya

(2) 5558 BokohHy TG5E
(4) JEerariy

The first Telugu lady who climbed the Mt. Everest.

(1) Hampi

(2) Neelima - (3) Saina (4) Ujwala

QSBRY STei )| H&Egﬁ?ﬂﬂé 20488 Beny iFE

(1) Sroa

2) H9% 3) »a> (4) seuge

The famous book “Vishwambhara™ was written by
(1) Dr. C.Narayan Reddy (2) Jashuva

Where did the Indian
(1) Vijayawada
(3) Hyderabad

(1) DTS

(3) TeoTh’

(4) Kandukun Veeresalingam

(2) ==
(4) 8oB8rB JEDoio

National Congress conference accepted the Indian National flag.
(2) Vizag
(4) Madras
288 80D ol 5a3rago wBAN Hido
(@) 3= .
| (4) DT
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187.

188.

~ 1809.

190.
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. olaces associated with t:ér_l'ﬂl' iag;iups
Match the gollowing P i)
: bha L i) SIMI
2 ' ] 15hEMﬂhammad
) Mﬂllkhﬂ a 3 ‘ 111) a

c) - Penger jy) Khalistan Liberation Force
d) Nawol 505 4 6 o0
*’53 Bod BoTOR s(ird Bogesd’ =er i ULFA {ﬁer‘))
a) & i) SIMI (ﬁ:;}j)
b) 0BT . i) B8 9 mm%ég
c) ont " -0 DeiB4S 6
Q) SeE - | _
The correct answer 15 o i

g] bwém o ' . o _. _“. d-"
';f)da)ﬂ :: b Hl c.- 1V, d-1 - . (2) d - !?E_ :; cc _Ilijd_ ::I
(3) a-iii,b-ii,¢C- i,d-1v (4) a-w, ._, =
?li;n wh{;mmgnﬁ{ e " © (2) MedhaPatkar

it ' d

(3) Iron Chanu Sharmila | (4) | Dhyuthi Chan_
SoeByS &8 Wererld | .
(1) 8 &> . ) Do Fi6

(3) afe o B0 - (4) 6}5@ fela

The youngest cricketer who completed 10,000 runs in the test matches..
(1) Alester Cook (2) - Sachin Tendulkar

(3) Rahul Dravid (4) - Brian Lara
@8NS S05%0¢" 53.\8&3’5 10,000 S&MHen 8 DS (§8&6

(I) @@3,&5 Lol : [2} STAN] auﬁrﬂgﬁ
(3) oS @26 , 4) @05l oor
In November 2016, India i gneda deal on Civil Nuclear Energy with the following country
(1) Korea (2) Japan (3) Russia (4) China '
2016 $30066* 86390 6 weE§ 2NOSO & Bod BHos® Kothixdol
(1) §oas> 2) =5 3) sy 4 3«
In the Rio Olymipics Wﬂmen s Badminton Singles Finals P.V Sindhu was defeated by
(1) Carolina Marin (2) LaraSarosi
(3) NazomiOkuhara : (4) Wang Yi Han :
8 Eue.;'ﬂn]g‘:} :’::::r#e: ar&éumcﬁ ,\jgﬁe?_:] 205 9 9. 008, & Bod Lgﬂ'ns'nﬁgga ﬁ;&ﬂrﬁﬂﬁ'ﬂﬁ-_ :;
(1) svom 58S . 2) oo B8 - =
(3) $F» o - (4) Toh-n-55.
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Choose i
Os¢ the correct Statements about Fidel Castro

;) }S:turimd_ Lm?r at University of Hawana

) ought agaimst the rule of Fulgencio Batista

c)  Served as President of Republic of Cuba from 1959-1976
d)  Served as the Fiyst Sccretary of Communist Party of Cuba

V35 SN BowosodS 508 TEgS0ed JoRE BosoSw0.

a) Soo -K)%‘ngmﬂgun:imes‘ a*go:‘b TE:;:: @aﬁgﬁmﬁ‘ﬂﬁ:
b) JYNSR> 28 oSt Sg@Eor Fo@d

- €) 1959-1976 385 Srger ez DS0BoTE

192,

193.

194.

d) Srger E50rgdD 6 InsE DELET DB ;

(1) a,bé&c (2) a,c&d (3) b,c&d (4) ab& |
ﬁecipient of Prestigious 2016 Sustainable Development Lc:ad_crship Award from President
Pranab Mukherjee at World Sustainable Development Sumimit was

(1) ChandrababuNaidu " (2) Manik Sarkar

(3) - Pawan Chamling (4) Kejriwal

36§ dPondwd FSoadol JYTS* TPI8 D Sopf S0d PBLES 2016

HondmdS asuSIol ol Bkl 568

(1) So@eran Joi0E (2) Soed§ dom 6
(3) 558 =dof 4) Bg>S

International Press Freedom Award 2016 has been conferred to Malini Subrahr::lguwﬂln;1 for
her work in the following place | e | |
(1) Bastar " (2) Balimela. (3) Srinagar (4) TJafna

4D Do@irpgot & 808 Fodos® e BT B MR wosTBH BT GBS
wf 2016 @Edo 3. L

(1) ERrsle] (2) w2ddeo (3) 8866 @) i
The Renkoji temple situated o Tapsn g receniiy Ttiews becanse op
(1) Earth Qe (2) Corpse of Stalin
(3) Ashes of Nethaji (4) Terrorist attack
35e¢ o 358'2 drocho adse ds's TITIE Ko s
2
(1 SrBoN0 _ 2) 3OS ':5‘3;,&5‘::1{,
(3) Jord DE A0 » (4) Ss
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. _ ~fthe following Countries
ce-2016” is a joint Naval exercise of -
(43 I'G e
195, «pfalabar Ex€rc® e

1) Russid, China |
52; America, Japan & India
(3) India,Chind & Japan .
(4) India, Vietnam & Sril

50
‘Soeers J%&“’ﬂé—.’lﬂlﬁ’ & |80 7o PRI S
(1) &g B 450050 Rodosr
(2) ®R005, p S L0000 ROGAST

§ g0

(3) =odddr, BT 438050 BFR
(4) =modair, JoNENC 48050 308

196. The author of “Aranyen Adhikar” is

(1) RangaNayakamma
(2) Mahaswetha Devi

(3) Olga
(4) Arundhathi Roy

“w5@dgS ©e5s (fod W
(1) duﬁﬁ"@émé

(2) HoFHEgedd

(3) b

(4) ©&od8T°0R

197. Choose the wrong statement about UDAN from the following:
a) ItwasaRegional Connecting Scheme
b) Itwas started by Ministry of Railways
¢) Udanmeans Ude Desh Ka Am Nagaric

d) The maximum Air fare for less than 1 haurjnurney 1s Rs.1500/-
UDAN % J020800 € 808 o783 S0d 3859 TESBN K chlgsc‘&
a) 28 (FodcH whdors HEo

b) ab 38 Do@&r TB |FFoPotndI

¢) UDANwsmr 43 &5 5 Sy 5505

d) o8 fobs %Y DirSciros BOSSOBS Ka

(1) a&b 8 68 . 1500)/-

2 3
(2) b&ec 3) aggq o S
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199,

200.
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—

(1) Him |
(2) Higl'i?yan En\rlmmnent Forest Agency

Education Financ;

3 : on Financing Agency
(3) Hfgher Education Financing Agreement
(4) Hima]

HEFA & 5
(1)
(2)
3)

NB8oWos

TIPS TR0 FOFY DA
aSogs DBGBAS DQ)oh B
TOGE oGRS TR w0l

dyan Environmental Financing Agreement

(4) irocHs DT II0LS PN B(AT0ES

Schiaparelli is
(1) an American Warship supplied to India

(2) anAtomic Reactor built in India with the Co-operation of Japan

(3) aPortin Pakistan developed by China
(4) an European Space ship to Mars
900 wIs o

(1) 28883708 J38H0° BoHds ©0bs oSG T
(2) 2 s 8od’ réddiod® Jomytntohuds weo 805rE6 -

(3) 8IS B> ©PNY WS LEBY

(4) womrds I8 PArhowES o8'F> SgHTE

Match the following Authors with their Books
a) Pal Baitie 1)
b) HanKong i1)
c) M.M. Benntts 1i1)
d) Sanjay Baru iv)
& 808 SSondosH 0 YJFTeS” 281Gl
a) &S Bond | i)
b) & sr0h i1)
c) D0.20.80E) ii1)
d) 5022050 W iv)
The correct answer 1s

5B HET AW

(1) a-i,b-iv‘,c-i_i_,d-ilii (2)
(3) a-iii,b-l,-ﬂ.-n,d-w (4)

The Vegetarian

How P.V. Narasimha Rao made Hj
e Histo
The Sell Qut ?

Into the Hidden Valley

& I2BdoHS

Fo LM E}a:}ﬁbﬂﬁﬂné} 33
& eS ©HS

Q0L & IrESs ﬂ‘gé

& D6

e-iilb-icoiy g
a_‘llb']i.i,[:-iv d'il
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